RETFHERETITHHERAFE

JE S BLEA

Product Manual

20mm %4z 3

f* & 4 NAME 20mm Control potentiometer
7= s 5 MODLE WHO020

W, 4,54 Electrical

[1# 5% B Resistance Range 1KQ-1MQ

{4 % %2 Resistance Tolerance +10% Precision. +20% Standard
7%.% M4 End Resistance <3Q

[ e HL4# Resistance Taper B(JIS A4 JIS LINEAR)
M4 Independent Linearity +3%

#E ) & Power Rating 0.25W(40°C)O0W(70°C)

ik, [ F 4L Peak Noise (C.R.V.) <2%Rn

@t v, /& Dielectric Strength 1000V 1minute

7 2% A 4742 Adjustment Travel 280°

#.% %, F8 Insulation Resistance

100M 500VDC

9% % Resolution

Kk K Essentially infinite

& K TAE % & Maximum Input Voltage 200vDC

¥ S ¥ Environmental

Ffifis B Storage Temperature Range -25°C ~+70°C

1% % & Operating Temperature Range | -25°C ~+70°C

7% & % 4% Temperature coefficient 500ppm/C

W, A A0 Load Life 1, 000h @ 40°C; 0.2W AR/R<x10%
7% 4% # 4 Rotational Life 25, 000 % AR/R+7%

IP 547 % 4 IP Range IP30

w14 # Soldering Heat Resistance

(350°C 3S)AR/R<£2%

# 4B 2K Temperature Cycle

(-25°C. +85°C 30min/each. 5 cycles) AR/R<x10%

& 3h Vibration 10-55Hz, 1.5mm #&t& amplitude, 3 7 @ directions AR/R<+5%
A A4 Mechanical

Rt SIZE JLH B SEE DRAWING

HARATAZ Mechanical Travel 300°

3% 4% 71 4E Shaft Torque 50 ~ 150gf-cm

1% 7) 46 Stop Strength >40N-cm

4% /148 Mounting Nut Torque 8Kgf-cm

4h3k3h Shaft Runout 0.15mm

%h3% 18 I Shaft End Play (£ 4K Z shaft length 30 mm)0.15mm

121 18] I¥. Shaft Radial Play 0.15mm

4h44 3 /) Shaft Strength (push)

125 N (12.75 kgf ) min.

4h¢4 35 /) Shaft Strength (tensile)

125 N (12.75 kgf ) min.

A+ Marking

Resistance

e+ Hardware.

FR. SR E . $EH Washer. Lockwasher. Nut

I % 5% Switch Specifications

#Z %% Nominal current 1A, 50VAC
ik 9, FL Contact Resistance 10mQ
#3)) /1 4E Operating torque 3N - cm
T4k /& & Operating angle 10°

X % & Test Voltage 500V




ELECTRICAL
-Rf: 500Q-5MQ
-Rf TOLERANCE: +£20%
-BLECTRICAL ANGLE: 280° £5°
-LINE TYPE: LINEER(B) LOGARITHMIC (4)
~INDEPENDENT LINEARITY: +35%
-CONTACT RESISTANCE VARIATION: <2%Rn
-TEMPERATURE COEFFICIENT: < £500PPM/TC
-POVER RATING: 0.25¥(40C)
MECHANTCAL
-ANGLE: 300° £5°
-ROTATIONAL LIFE: >50,000 CYCLES
-Shaft material :Plastic
-Bushing material: Plastic or metal
ENVIRONMATAL
-STORAGE TEMPERATURE -40C TO +85C
-0PERATING TEMPERATURE -25C TO +70CT

WHO20-H

WHO20-HT

WH020-V

16.5

15 (18 [ 2025 30

35

20

11,1

~

o |E—~
== bt

M10x0.75

181

M10x 0,75

18T

M10x 0,75

1/2




WHO020-VT

WHO020-HK

WH020-VK

¥H020-D

JIANGSU HOSSMAX ELECTRONIC ELEMENT GCO., LTD

|
b6
T18T!

16.5

M10x 0,75
&
s
s

18T
11

M10x0.75

2
E

2.1 L

—WI_I_ T—¢ ¢ ¢

|

|
mm
18T
11

L o 69

MLOx0.75

}

2/ 2






	WH020.pdf
	WH020-1.pdf
	WH020-2.pdf


